Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria

Complete Spare Parts List of
Martin Ego 03

02005420 AT90S2313, micro controller
02050120 74 HCT 4051P 8-1 MUX ,SMD
02055502 HEF 4069 Hex inverter ,SMD
02055505 Mono/astbl mutivibr. CMOS SO-1
02100202 LM 358 Dual opamp, SMD

02105010 1,5A voltage regulator, LM317T, TO220
02105201  78L0O5 5V/100mA VOLTAGE STAB. ,SMD
02106101 Programmable Voltage Reference, TL431ACD
02120901 High-Voltage half bridge driver, L6384D
02121014  Dual Full Bridge Driver, L6204, DIP
02200500 TLP131, opto photo transistor, SMD
02300401 BC847B,SMD

02300601 NPN high current, 1A, 20V, SOT223
02301201 BC857B,SMD (BC557)

02301401  PNP high current, 1A, 20V, SOT223
02301600 Transistor array brigde

02320211 IRFP460, 20A 500V, 0.27R

02320600 STD2NB60, n-mosfet, 2.6A/600v
02320621 IRF1010NS, mosfet, 55v/60A
04010364  2.2uF, 250V, film

04020328 2.2 nF 250V Y2 film capacitor
04020354  220nF, X2, 250V film capacitor
04040256  4700uF, 25V, electrolytic, radial
04050140 2.2nF, 50V, ceramic, SMD

04050148 10nF, 50V, ceramic, SMD

04050152  22nF, 50V, ceramic, SMD

04050160 100nF, 50V, ceramic, SMD

04050217  27pF, 63V, ceramic, SMD

04051136 1nF, 50V, ceramic, SMD 0603
04051148 10nF, 16V, ceramic, SMD 0603
04051151 22NF 0603 X7R 25V 5% CER

04051160 100nF, 16V, ceramic, SMD 0603
04051224  100pF, 63V, ceramic, SMD 0603
04051400  470pF, 1KV, ceramic, SMD 1206
04080100  10uF, 16V, electrolytic, SMD

04080101 100uF, 16V, electrolytic, SMD
04080512  1uF, 50V, electrolytic, SMD

04080513  2.2uF, 50V, electrolytic, SMD
04170148 3.3 OHM resistor, SMD 1206
04170340 270 Ohm resistor, SMD, 1206



04170400
04170464
04170540
04170564
04170700
04170716
04171150
04176000
04176100
04176172
04176200
04176340
04176400
04176424
04176432
04176448
04176464
04176480
04176500
04176516
04176532
04176548
04176564
04176600
04176664
04176700
04176716
04180200
04190303
04200102
04200104
04220001
04260320
04301001
04301002
04301007
04301010
04302009
04304050
04305001
04305002
04305004
04305008
04305010
04305011
04311003
04317000

1K Ohm resistor, SMD, 1206

4K7 OHM RESISTOR, SMD

27K Ohm resistor, SMD

47K OHM RESISTOR, SMD

1MO OHM RESISTOR, SMD

1M5 OHM RESISTOR, SMD

4R7 1% 1206 1/4W

OR OHM, 5% 0.06W, SMD 0603

10R Ohm resitor, 1% 0.1W, SMD

56R Ohm resistor, 1%, 1/10W, SMD 0603
100R, 1% 0.06W, SMD 0603

560R OHM, resistor, 1% 1/10W, SMD 0603
1K Ohm resistor, 1% 0.1W, SMD 0603

1K8 Ohm, 1% 0.1W, SMD 0603

2K2 Ohm resistor, 1% 0.1W, SMD 0603
3K3 OHM, 5% 0.06W, SMD 0603

4K7 Ohm resitor, 1% 0.W, SMD 0603

6K8 Ohm resitor, 1% 0.1W, SMD 0603

10K OHM RESISTOR, 1% 1/10W, SMD 0603
15K Ohm resitor, 1% 0.1W, SMD 0603

22K OHM RESISTOR, 1% 1/10W, SMD 0603
33K Ohm resitor, 1% 0.1W, SMD 0603

47K OHM RESISTOR, 1% 1/10W, SMD 0603
100K Ohm resitor, 1% 0.1W, SMD 0603
470K OHM RESISTOR, 1% 1/10W, SMD 0603
1M Ohm, 1% 0.1W, SMD 0603

1M5 Ohm resistor, 1% 0.1, SMD 0603

10R Ohm, 1% 0.4w/1w mmb0207 Minimelf
100 Ohm 2 Watt Resistor

15R 1218 5% 100ppm 1W

33R 1218 5% 100ppm 1W

10K Ohm Potmeter lin

4K7 Ohm (x4) 5%, 50V res. array
BAS32L-115 (1N4148), SMD

BYD37M-115 (1N4007) , SMD

Diode MURS160T3, SMD, ultra fast
BAT54S, dual shottky diode

Bridge 6A/600V GBU6)

Diode, ZENER BZG03-C200, 200V, 3W
Diode 3V9, Zeener

Diode, 5V1, Zeener

6V8 0.5W ZEENER DIODE, SMD

Diode, 10V, Zeener, SMD

12V 0.5W ZEENER DIODE, SMD

Diode, 15V Zener

Blue LED SMD 465nm

Light guide, single line, d=3mm



04350210
04400403
04502003
05000014
05020013
05030001
05040021
05060011
05061005
05061006
05123404
05124000
05144002
05144104
05144505
05147001
05149001
05221004
05221050
05323522
05328401
05328405
05551001
05551003
05722007
05722008
05741202
05830001
08050700
08050702
08052701
08053806
08053810
08054401
08070409
08070701
08071301
08071501
08114311
08132310
08133601
08200102
08200106
08200107
08220101
08220108
08240703

X-tal 8MHz low profile, SMD Tape
Choke 2x470uH, 4.5A, noise sup

Trafo 275W, SMPS, 24V/11A, 12V/2A
Relay, 5V 6A/250V, double pole, dual throw
Fuse 3.15 AT, high I*I*t

Fuse holder PCB, plastic support

165" Thermostat Open

Heatsink for TO220 PCB 15K/W
Silicone pads, glassfiber
Retaining clip for heatsink

Jack, dual stereo, 3.5mm

SIL10, St. single row socket

Header 2 pole 2.54mm PCB

Header 2 pole, angle, 2.54mm, PCB
Header 6 pole angle, PCB, schrouded
Mains socket, PCB ,male I.E.C.

Spade plug 6.3mm male , PCB

Socket, halogen lamp GX5.3, 600mm wire
Holder halogen lamp

Plug MTA female angle, wire, 2 pole, natural, 0.20-0.22#
Cable plug, 6.3mm female, single,faston
Cable plug, 6.3 mm female, single, faston, insolated
Knob 4mm REAN Black

Lid for 4mm Knob. black
Motor, 12V DC, gear 300:1

Motor 12V DC + gear 50:1

Fan 12V DC Brushless 3" high speed
Electret condensor Microphone

M3x6 taptite, Torx, ph, black

M3x6 screw, Torx, ph, black

M3 hex lock nut

M3x7 stand off, m/f, black

M3x12 stand off, m/f

M3 lock washer, black

M4x20 taptite, Phillips, ph, black
M4x10 taptite, Torx, ph, black, Paint cut
M4x10 screw, Allen, cs, black

M4x5 set screw

Focus screw for Ego series

M8x20 adjustable handle, male

M8 blind rivet nut

2.9x6.5 Plastite, ph, black

4x8 eco-syn, ph, black

5x12 Plastite, ph, black

3.2mm x 6 Rivet Black

3.2x9,5 Pop Rivet UH St.St.
Magnetic catch, D=20, d=10, L=1.5



08261202  Spacer Ateco, Black

08331037 M4x25, screw

11441002 Wire, brown, 1x1.54, SIF, 42cm
11501010 Mains cable 3x1,0# Open wire
11501020 Mains cable 3x1,0# IEC-Schuko
11501502 Mains cable U.S. (10A)

11860022 Wireset for DC motors, Ego
13104000  Strap, black, high temp, 2.5x98mm
14026005  silicone tube d=5 D=9

16100220 Drive pulley, Ego 02

16120080 Belt d=66.34x2.62 mm black
17320280 Silicone tube, Ego 03

17740110 Tension spring 0.6x6x50

17780270  Spring, Ego 03

17780280 Spring, focus, Ego 03

21060350 Mounting bracket, Ego series
23400950  Plast shell, upper, Ego series
23400960 Plast shell, lower, Ego series
23400970  Front ring, plast, Ego series
23806880 Plate, PCB, Ego 01 & 02

23808020 Main plate, Ego 03

23808040 Plate, lamp, Ego 03

33001023 Instruction label, Ego non-int
33001031 Logo label, Ego 03

33002005  Alu foil-1 selfadhesive, Ego 03
33120037 Label, PCB connection, Ego 01 & 02
33150033 Warning label, Ego series
33150034  Caution label, Ego series

34000082 Cardboard box, Ego

34204009 Polystyrene packing for Ego Series
34240015 PLAST BAG 500x600 mm

34241521  Shrinkfoil, 19my, B=750mm
35000109 User manual, Ego 01/02/03/ Logo Projector
35030000 User manual, frensh, Ego 01/02/03
35040000 User manual, spanish, Ego 01/02/03
35060000 User manual, german, Ego 01/02/03
37000201 Sikaflex 521, clear, 90°C

37000801 Silicon glue clear, low temp. (220-250 ¢C)
37021001  Locktite 243 250 ml.

41000040  Mirror tunnel L F, Ego 03
41000050 Mirror tunnel SF, Ego 03
41201058 Lens, D=75mm, meniscus
46400101 Dichroic, light blue 101, 14x15
46400102  Dichr. light green 204, 14x15
46400107 Dichr. Yellow 603, 14x15
46400109 Dichr. Orange 306M, 14x15
46400112 Dichr. Mauve 507, 14x15



46400118 Dichr. Blue 106, 14x15

46400201 Magenta 507, 15x7.1

46400202 Flame red 304, 1.1x15x7.1

46400203 Lavender 508, 1.1x15x7.1

46400403 Dichr. Orange 306, 8.7x7.1

46400406 Magenta 507, dichroic, 8.7x7.1
46400407  Dichr. Cyan 104, 8.7x7.1

46400408  *Dichr. Turqoise 202 8.7x7.1 .1
46406100 Flame Red 304, 20x21x1,1mm
55428003 Bottom module, Ego series

55428033  Effect module, Ego 03

55428034 Lamp module, Ego 03

55428035 Lid module, Ego 03

55428037 Front module, Ego 03

55428038 Ball bearing w. ring, Ego 03

55428039 PCB module, Ego 03

62000090 PCB, piggyback, Ego, tested

62104064  1,5A voltage regulator, cut

62222003 Fan 12V DC 3" High speed with plug 350mm wire
62325032 Gobo wheel, Ego 03, glued

62328011 Focus lense w. ring, Ego 03

97000109 Lamp halogen, ELC, 24V/250W (1000h)
98120015 Martin labels sheet, Martin labels 7 pcs.

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria




